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Note: you have four choices for each objective type question as A, B, C and D. The choice -Q/QJ’);.:,UV
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be
awarded in case BUBBLES are not filled. Do not solve questions o n this sheet of OBJECTIVE PAPER. 5
Q.No.1 R

(1) The unit of electric power is: _ -g_&"(»g./}.ol )
(A) Ohm A (B) Watt 1y (C) Joule Jz (D) Farad 4 j

(2) Ifthe length of simple pendulum is halved, s VAL GALUT OISl (@)

its time period will be:
r T
(A) Jar (B) —= (C) 21 D) =
V2 2 L

(3) Example of Longitudinal waves is: _ , -‘LJL‘»JJ{’:J;‘A (3)
(A) Sound waves Jys43L-  (B) Light waves /‘;j;&}%} (O) Radio waves Jgsgk, (D) Water waves Jg;d/ dt

(4) The loudness of sound is most closely related to its: fe. mwfuﬁ;upwfss UJJ’? L (4)
(A) Wavelength m"'%': (B) Frequency u"‘:{/ (C) Period 4z (B) Amplitude 3 u‘,/*I

(5) The image formed by Convex mirror is: _:‘4.8;46: tdb‘a'..c.f/uff (5)

v 5 ’ L/

(A) Real and erect J’@ulu’g (B) Real and inverted u’wufj
(C) Virtual and erect f,g//:kj;;u (D) Virtual and inverted JJU:U;;»

(6) in series combination of capacitors, each capacitor will have same: sl L }.’;‘Q?Lw}ﬁcﬂ@ Y. K/‘./}&T (6)

w

(A) Charge Lo (B) Voltage é:'» (C) Capacitance (¥ (D) Charge & voltage (’3,,,,@/:5

(7) Electric power is equal to: -gz'zj:g.f}gf (7)
(&) /R’ (B) v C) 1’v (D) ?

(8) Transformer is used to change the value of: L s Ginede tollUspeis  (g)
(A) Energy ($.1 (B) Charge bl (C) Power 7’ (D) Voltage é’)»

(9) The out put of two input NAND gate is "0" when: -:.,z;.&n "o" ¢4¢§TJJ@LU.&,¢J! I 9)
(A) A=0, B=0 (B) A=1, B=1 (C) A=0, B=1 (D) A=1, B=0

(10) In computer terminology information means: RS EIe d (10)

(A) Large data G3nl (B) Raw data &}#76 (C) Processed data ity (D) Any data &5&(@/
(11) When Uranium (92 Protons) ejects e o -/'i,w:m’%‘cw?;,t/ z,/ulflyg. (7 92) fidenr (1)
a beta particle, how many protons are left in remaining nucleus?
(A) 9, 90 Protons  (B) sy 91 Protons  (C) 7%y 92 Protons (D) 7 93 Protons
(12) If frequency of a wave is 4Hz and wavelength is 0.4 m -&é{tfu"?n 0.4m a?'%’u!f 4Hz u“l/&»ﬁﬁ (12)
what will be its speed?

(A) 1.6ms™ (B) 16ms™! (C) 0.16ms™ (D) 160ms™
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TIME ALLOWED: 1.45 Hours SUBJECTIVE Sblo Z45 = =
MAXIMUM MARKS: 48 M B~ G/)-220. a8 = AF
NOTE: Write same question number -q.@.udq_{.élr.&;{ Z'/J)/::;?.JJ‘/.‘.J’)’L‘/"{Q((}'ﬁ -y

and its part number on answer book, as given in the question paper.

SECTION-I Jslo

2- Attempt any five parts. 10=2x5 -g{(}’o\.’k&lﬂégcéf -ZKULV
(i)  Write down the difference between Conductor and Insulator. SISOl P P )
(i)  How Ammeter is connected in circuit to measure -q/uy.;dé ‘.“4?@'}24/:5‘{(5!{_&‘)‘;50/&/‘)5&’/ (i)
the current, support your answer with reason.
(i)  Why some elements are radioactive and sux L 1441M};;1waxé{ whoaoti (i)
some are not radioactive?
(iv)  Write two main features of parallel combination of resistors. -u/ /:-;Laf’.( I»J}mﬂﬁﬁjf‘/’/ (iv)
(v}  Whatis Solenoid? State the principle to determine its polarity. _quudr'lKL/r}"d /gJu’l e Wiy ()
(vi)  The core of transformer play important role, state it. _u:/ug_f. -:‘.;bfﬁlbf/ﬂﬂ//wl} (vi)
(vii)  Alpha particle has more ionization but less penetrating power why?  $Us ~e (b LG i t,gTJJ?:‘L'UM (vii)
(vii) What is atom and write down its parts. SIS SEL 1 S PR (i)
3- Attempt any five parts. 10=2x5 ..é{/...&li&!?lét:_éf Y
(i)  Medium-isnecessary for propagation of sound waves. cenflid Lostr§iu S f Satarf ()

prove it with experiment. A
(i) Whatis sound? How is it produced? te ol e T (i)
(iliy  If at Anarkali bazar, sound level is 80 dB. S il SxsL-9n 80 dB Jrd kst asnde (i)

What will be the intensity of sound?

(iv)  What is electroscope and give its two uses? -g‘iqp UWI»LJI ?q_)l/t[c?,ﬁ}gl (iv)
(v) What is Coulomb constant? Write its value. -uf’ﬁ ~=~§ JJ f ‘-'q—,,lfw{.f)f {v)
(vi) Differentiate between variable and fixed capacitor. -k L }'{L@;Uﬂdﬂ (vi)
(vii)  What do you know about E-Commerce? Describe it. -q/ug ‘.‘ugal‘gg@ﬁw Zures (i)
(viii) Internet is beneficial for us. Write about it. -ujxfxf ?4‘;.,35*4".;/&1.*,{}:! (viii)
4- Attempt any five parts. 10=2x5 -Efeelingie 8 a )y
(i)  Define damped oscillation and give example. -Q:Jl‘«‘w'd,/bé’/‘Uuﬁ"{f"%f 0)
(i)  The frequency of simple < g= 10ms=2 ﬁq/r;“’éd&ﬂig ¥l /d 5(”9&/@. 0.5Hz ﬁf/d?:ﬁ«;;g}f L (i)
pendulum is 0.5Hz. Find its time period, also determine the length of pendulum if g = 10ms™2.
(i)  Define frequency also write its relation with time period. -u.;"JJL‘?c.é ,5(" e[.ﬁ:g;(m -q/.y/J W:’Z/ (iii)
{iv)  State the laws of refraction of light. -kt LSS G (iv)
(v)  Whatis Snell's Law? Write its formula. sk e Yuisk W)

ISl Sl d4 (i)
(vii) Draw a symbolic diagram for NAND gate and write its truth table. -.;lag}-"’:a’;/‘ﬁjlul;ta(lﬂﬁu’ kded NAND (vii)

(vi)  Explain power of lens. Also define its unit.

(vii) Define digital quantities and give an example. _é;J("‘/vgmgf._g/""Ju:/lﬂﬂ’;f (viii)
( 21’ Jus)
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~ SECTION-I fue2 MANG /-2

NOTE: Attempt any two questions. 18=9x2 -gi,/i.:,yzéammcéf -
5.(A) How radio isotopes are used 2+2 S (WU Bkl R LB AT R Tyt (I)-5

as a tracer and carbon dating?

(APl LU 5 2 ANGE el S B L bt et 100W 220V s b POIG ()
(B) An electric bulb is marked with 220V, 100W. 5 -,_»,;f,»)w:/,f.u,f&;tdu;.x@;‘u: (oL st
Find the resistance of the filament of the bulb. If the bulb is used 5-hours daily.

Find the energy in kilowatt-hours consumed by the bulb in one month (30 days).

6.(A) Explain the application of 2+2 -‘fu&ﬂ/ysd-’%,u/.wuﬂdubuiﬂ}?@é;:’z:.@,}?' (-6

electrostatics for electrostatic air cleaner. Also draw a labeled diagram.

1414241 WkoeIl Lo J& Jobf 1.5Km et -t 35cm o) 2 kHzuee P\ 280 TR Spaisadl (L)
(B) A sound wave has a frequency of 2 kHz and wave length 35 cm. How long will it take to travel 1.5 km?

1x4 2 byelba®ee VLA ay Seobnf Bidbé e A Ve udp e (-7
7.(A) Explain with the help of ray diagram the image formation from convex lense.
When object is placed at four different positions infront of a convex lense.

5 g =10ms? g g = g% A s Budg il Shisun s Syt s801 —e- 2 s tafthimt (&)

(B) The time period of a simple pendulum is 2 s. What will be its length on the Earth?
What will be its length on the Moon if g, = g% where g, = 10ms™
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TIME ALLOWED: 15 Minutes OBJECTIVE u";/w o115 = &
MAXIMUM MARKS: 12 Mp-G2-22 12= Af

A S & SN oLl R s S u:}béfé..:&bédfy/;{(_é(dlz -pLi D s CBA .:;U;’..;Zk&dlr/; -t
P TV -(LGQJU.?’/:‘(;)/J&/:‘JL/’:L& ))(/J}}U -g’nu““’bll._,fiuﬁu::u/gﬁ,/c: Joy § L/éfu:/’bukié..g e
Note: you have four choices for each objective type question as A, B, C and D. The choice -q/ﬁ:‘fﬂ}@uv
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will resuit in zero mark in that question. No credit will be
awarded in case BUBBLES are not filled. Do not solve questions o n this sheet of OBJECTIVE PAPER.

Q.No.1 : A Ay
(1) The number of protons in ,,U** is: eIyt UPE (1)
(A) 146 (B) 238 () 196 (D) 92
(2) Acurrent of 3A is flowing through a wire Sg-..p:f (y/,.lglﬁfu:}u -4‘-..5‘4..*2/ 3A e 1 eSSl (2)
for 1 minute. What is the charge flowing through the wire?
(A) 3C (B) 180C \ (C) 180 x107C (D) 20C
(3) The unit of intensity of sound is: —e g il ansT (3)
(A) Wm™ (B) Wm™ C) Wm? (D) Wm
(4) If the length of a pendulum is doubled its time period will be: Kb P U S @)
W 3T B) 2T © % ©) —TE
(5) The characteristic of sound by which -+8M SIS S @»Idﬂ.tﬁvﬁ(’ceﬂu)'wr"'u&w (5)
we can distinguish between two sounds of same loudness and pitch is called:
(A) Pitch & (B) Quality (¥ (C) Loudness (#3y (D) Intensity _uisks!
(6) The image formed by Concave mirror is: -c‘-.ané !dbic_//z@/ (6)

(A)Real 5 (B) Virtual Jz.» (C) Real or Virtual Sz L & (D) Real and virtual both Usfzs st s
-§-u'f'u<'{5:wfu' iz 88 12V e ISl cgp 6pF o 120F LGS
(7) Two capacitors of capacitances 6uF and 12pF are connected in parallel with a 12V battery.

Their equivalent capacitance is:

(A) 6pF (B) 12uF (C) 12uF (D) 18pF

(8) Whatis the voltage across a 302 -c‘.mg,,.sr)’u:;;/m?g.c,:@/{ BA e frul 30 L (8)

resistor when 6A of current passes through it?

(A) 36V (B) 9V (C) 18V (D) 2V

(9) The is a practical application of mutual induction. < W?K{Jﬂéﬂuﬁf )
(A) D.C motor /» D.C (B) Transformer ,~/&i/ (C) Relay & . (D) A.C generator = A.C

(10) Boolean expression of NAND gate is: ~§~~>’U‘u’*‘)&’d/¢f X (10)
(A) X =4-B (B) X = 4-B (C) X = A+B (D) X = A+B

(11) Number of components of computer based information system is: -c‘-:f,u"’g(f'].l[.("/ u%wlk/’:;,/ (11)
(A) 3 (B) 4 (C) 5 (D) 6

(12) Which of the following radiations has more penetrating power? ?‘angmgv@)&&fc‘ﬂ Fiskatits  (12)
(A) Gamma rays 7. (B) Alpha particle Jf’lyﬁ" (C) Beta particle Jf’;&t‘g

(D) All have same ability g.(ﬁ‘?.gquerw
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SSC PART-II (10th CLASS)
PHYSICS GROUP-I PN,
TIME ALLOWED: 1.45 Hours SUBJECTIVE tL» 145 =
MAXIMUM MARKS: 48 - MTn-Ga-22 48 = Af
NOTE: Write same question number -c‘-@/;uﬁzr-/?.,'lrﬂ;; @/:/%zm/-ﬂlrm/?q KU1z | oy

and its part number on answer book, as given in the question paper.
SECTION-| Js.o>

2- Attempt any five parts. 10=2x5 i linbledd 2 0y
(i)  Differentiate between conductors and insulators. . -J/ubu/uﬁ/ﬂmu i)
(i) Statelenz'slaw, | | 96 K/ (i
(i)  Define Fission reaction and write its equation. | u"ﬁbVJJb;U/J/’JuJ I (iii)
(iv)  Write the alpha decay for ,, Pa® | YA fr LS wd L, Pa® (i)
(v)  Inorder to measure current in a circuit ?‘¢.ttgl/‘£ux.( G &by witd /ﬁl%.z:z'_(g/wJ&fJi&}VQ (v)
why ammeter is always connected in series?
(vi)  Draw a labelled diagram to illustrate the structure of transformer. -Q:/ (‘j b.:)tzd/// W!/‘;ug((l/’pidfg (vi)
(vii) What is the difference between atomic number and atomic mass? ‘LJ}UJ’JLJ’ A (i)
' (vii) How many watt-hours are there in 1000 Joules? "u‘a.mi bzfu“di 1000  (viii)
3- Attempt any five parts. 10=2x5 Efenlinbie 8 34y
(i)  Describe any two characteristics of sound. -q/ukw&‘;“‘%:tf (LIS
(i) Define the capacitance of a capacitor and write its unit. -uf“j&,nguu/.éJ /‘Uuwj U,%SJ }d’( (if)
(i)  What is the electric field intensity? Write down its unit. -uf’gb*f'gwl ?g.g‘;....sfﬁ\ ,Q,}J/‘?o (iii)
(iv)  How the capacitors are connected in two ways in a circuit? ?{_L";Lyb‘ﬁd: A .:f/u’:f/ ;ffv/c,u;?. by (V)
(v)  Whatis a CPU? On which thing it consists of? e t‘nd;»{ /;’.;(f:, ‘."L“U/ CPU (v)
(vi)  What is a browser and Email? ?ujtﬂ)fdi s a3 (Vi) |
(vii) Is Coulomb's law applicable for all charges? ?‘at'nﬁgz/grﬁuiﬁ' 1 Jf gf (vii)
(viii) What is loudness of sound? -c‘_/uﬁ(m{ gfgj..’”@"f»c:é/ 94_,:/9@_}5 V..:'TUJ% U (viii)
Write any two factors on which it depends.
4- Attempt any five parts. 10=2x5 -é{fa@b?é"ﬂé&aé/ -4 ,'Jlr
()  Whatis meant by mechanical waves? Give example. L Sl i S ()
. (i) Provethat v=f2 | v=fa SSek (i)
(i) Why formation of image by lens and mirror is called ?‘L&W(U}[ J‘;'Tﬂ/'fz?uhd/ é‘c_///:l}".’.‘ (iii)
geometrical optics?
(iv)- Draw a ray diagram of image formation by a magnifying glass. -Lj:/b:r’/ir'jé_ld/u‘/}t‘.\; 5‘&-J’Kv@66‘?y’a (iv)
(v)  What s the difference between angle of incidence and fe 0 oend cf‘gfdfﬁlnfﬁyld!'ﬁl (v)
angle of reflection? v
(vi)  How NOT gate is an inverter? %.4/’1)'.@.‘/_( b (vi)

~(vi) How NOT gate is formed from NAND and NOR gates? LS e Bolbe oot (i)
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SECTION-Il pu.2 M7, -GR-R)

NOTE: Attempt any two questions. 18=9x 2 -égjg;¢z£¢U1y,;¢J/ Oy

5.(A)

(B)

6.(A)

)

142+ 1 e bosduie s S Ol bl QL S AT S g S FS S (s

Define electric current. How battery is.used as a source of current? Explain it with diagram.

s & 1 5 ’ i
5 I L ol 7 LS 14k e Jb 5730 SIS 14 (L)
Carbon-14 has a half life of 5730 years. How long will it take for the quantity of Carbon-14
in a sample to drop to one-eight of the initial quantity?

Explain the electrostatics with 1+3 -q/wu,gfféu‘iﬁf‘gic,mf)!ﬁu@:}?l (.6

the example of electrostatic air cleaner,

5 ML L3 S Lot 1.5km et - 35 cm i 2 kHz w2 AL S SR j il (L)
A sound wave has a frequency of 2 kHz and wavelength 35 cm. How long will it take to travel 1.5 km?

1+3 Pz oSS St 6 ST v§_,ygc,u>‘?fJWi (.7

What is meant by total internal reflection? Explain through diagram passing of light on optical fibres.

5 <3/l 05 Loty 90 m SASSUIE e 190 Hz 3 AP Udhi st bedi (L)
‘ Snd e (b) izt (@)
A transverse wave produced on a spring has a frequency of 190 Hz and travels along the length of the
springof 80 min 0.5s. (a) What is the speed of the wave?
(b) What is the wave length of the wave?
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